DIVISION

0 5 = 25 5 == 42 wpm 7 =
12w 6 = 36mjm 6 == 48 wjm 4 ==
18wjm 6 == 0= 5 = 40 wjm 4 ==
40 wjm 5 == 14 wfm 7 5 wju 5 mm
42 7 = 8 == 4 = 44 wpm 4 ==
24 == 4 = 7 w7 == 35ufm 5 ==
21 wfm 7 == 28 wjm 7 == Oowm 5 ==
0w 6 == Sufm 7 = AS wjm 6 ==
2w 4 = A2 wjm 6 == 54 wjm 6 ==
60 mfm 5 == 12 wjm 4 == 50 sfm 7 ==
A8 wim 4 == 4 wim 4 == 15 wjm 5 ==
4 wjm 7 == 6 == 6 == 66 wfm 6 ==
45 ufm 5 m= 28 wjm 7 == /2= 6 =
SOmfm 5 == 16 wfm 4 == 70 wfm 7 ==
24 wjm 6 == 77 wjm 7 == 84 nfm 7 ==
Choose two numbers from the box to complete the division sentence
/0 5 7 14 20 45 10 5
. — = =
5 30 10 60 49 2 7 32
+ = ‘3 =
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